Force at Angle Example

A person is pushing a 15 kg block across a floor with p,= 0.4 at a
constant speed. If she is pushing down at an angle of 25 degrees, what
IS the magnitude of her force on the block?

X- direction: XF, = ma,
|:push COS(@) - |:friction =0
|:push COS(G) — U I:Normal =0
I:Normal = |:push COS(G) / H

Combine:
Foush €0S(0) / u—mg — Fp, SiN(0) = 0
Fousn (€0S(6) / . - sin(8)) = mg

Foush =M g/ (cos(0)/u —sin(0))

y- direction: XF, = ma,
I:Normal _Fweight - I:Push Sln(G) =0
I:Normal —Mg — |:Push SII’](G) =0
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